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Aufgabe 1.4
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Aufgabe 1.8

o = sin(&) = cos(0)
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Aufgabe 1.9

= unbekannt e — =sin() = cos(x)
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Aufgabe 2.1
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simo = —
C

c-sina = a

a=c-sina=72cm:sin44° = 5.0cm

Aufgabe 2.2
b
tan g = —
a
a-tanfB =0
b 4.4 cm
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“ tanS  tanb6° ITcm
Aufgabe 2.3
b
cosa = —
c
c-cosa=b
.o b _ 37.62 cm _ 37 69em
coS & cos 76°
Aufgabe 2.4
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= tan(¢)
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a
cosff = —
c

c-cosff=a

a=c-cosf3 =14.3cm - cos82° = 1.99 cm

Aufgabe 2.5
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sina = —
c

c-sina=a

a 16.0 cm

¢ sin «v sin 30° e
Aufgabe 2.6
sinff = -
c
c-sinf3=>b
b :
= zogcm:2.05cm

€= sinf3  sin23°

Aufgabe 2.7
b
cosa = —
c

c-cosa=2>

b=c-cosa=1.5cm-cos63° = 0.68cm

Aufgabe 2.8
a
cosff = —
c

c-cosff=a

24
c=— = =0 _9648cm
cos 3 cos25°

Aufgabe 2.9

tana = —
b
b-tana =a

b a 2.5cm

- = =451
tan o tan 29° o




Aufgabe 2.10

b
tan f = —
a

a-tanf =0
b=a-tanf = 9.8cm - tan45° = 9.8 cm

Aufgabe 2.11

tana = —
b
b-tana =a

a=>b-tana =12.6cm-tan13° = 2.91 cm

Aufgabe 2.12

sinﬂzé
c
c-sinf3=b

b=c-sinf=89%cm-sin7° = 10.85cm

Aufgabe 3.1

a a
tana = Z = :arctang

= arctan — = 52.65°
o = arctan -

Aufgabe 3.2
. a .a
sinae = —- = « = arcsin—
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a= arcsing = 33.75°

Aufgabe 3.3

cosa = - = a= arccos -
Q. = arccos i = 29.43°
Aufgabe 3.4

b b
tanf =—- = [ = arctan—
a a
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= arctan —— = 84.96°
[ = arctan 15

Aufgabe 3.5

cos 8 = RN [ = arccos a4
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= — = 60.0°
[ = arccos 03
Aufgabe 3.6
. b .
sinf=- = [ =arcsin-
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= in — = 75.75°
[ = arcsin 5T

Aufgabe 4.1
h

— = sin62°

l

h =1-sin62°

h =30m - sin 62°

h =26.49 m
Der Drache steigt etwa 26.5 m hoch.

Aufgabe 4.2
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SIN oy = ——
AB

o = arcsin ——
AB

. 4.5m
« = arcsin
m
a = 5.49°
Aufgabe 4.3
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c
[ = arccos %
[ = arccos 16 om

B =67.98°



v =180° — 24
v = 44.04°

Aufgabe 4.4
hq

sina = —
a

h, = a-sina
A=a-h,=a-a-sina = a’sina
A = (9cm)? - sin 55°

A = 66.35 cm”

Aufgabe 4.5

sin(7/2) = 2

b-sin(y/2) =c¢/2
o c/2
N sin(y/2)
B 3.2cm
"~ sin23°

b=28.19 cm

Aufgabe 4.6

.ﬁ:%.A—cz%-a-ﬁ

AF = 162.64m
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e tana = —
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o = arctan —
A

137m

— arctan ——————
o A e 6 m

a =40.11°



